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Answer ALL the questions.
(20 marks)

For items 1 to 20, each stem is followed by four options lettered A to D. Read each item carefully
and circle the letter that corresponds to the correct or best option.

1. Which one of the following solids has a uniform cross-section? <
A. Cone UE

C. Pyramid.
D. Sphere.

2. A cylindrical tin of diameter 9cm and height 224cm is half filled with water. Find the volus
water in the tin. b o
. 47520’ BRSNS

o SeuE e e

> Fix: 1k et
 Given that P(4, —1) and Q(0, 3) are the points in the €
divi =xfernally in the ratio 3555,:“. el il




5 The area of a rectangular sheet is 108m?2. If the length of the sheet is three times its breadth, what i3

is the length of the rectangle?

(A 6cm 7y i
@ |8cm , ; E§ & A N 1'1':"‘. g
. 36cm _ Y Pt

'\T
E
D. 108cm . A 5 ol ¥ %
3

- {'-:‘1 N
6. The height of an equilateral triangle is J3em. What is the perimeter of the triangle? v A

A. 2cm 9 ;T
3em s
6 .
D. 12¢m

7. Which of the following formulas’ is used to find the (otal surface area of a closed cylinder?

A. mr®+2nrh
B. 2nr?+2mr

W o ' ey
(r +h) P~

nsions 16cm by 12cm by 10cm. Calculate the total surface area of

e

8 A tool box with a lid has dime
the box
A. 240cm? /
B. 320cm?

C. 384
944tm*

The diagram below shows a sector of a circle of radius 14cm. The angle at the
The sector is folded to form a cone. [Take = 22/7]. Use this information to ans:

and 10.
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10. Calculate the surface area of the cone.
A. 22cm? \

225cm?
. 278cm?
462cm?

I'l. Given that A(11,1) and B(2,7) are two points on a line. Find the coordinates of the point, which

d&ww in the ratio 2:1

B (2. 5)
C. (. 11)
D. (11,9) |

12. A cylindrical tank that has not been covered is fixed on the ground on a concrete slab. The
diameter of the tank is 6m and its height is /4m. A painter is charging GH¢5.00 per square meter.

How much will it cost to paint the outside of the tank? (Take m = 2—:-) N5 h e axa2x3% H

A. GHg84.00 1 l

@ GHg264.00 v P
GHg420.00 4SP

@(?.Hmzo.oo , B R

13. Q divides the line AB, A(—1,2) and B(3, 4) externally in the ratio 3: 2. Find the coord nates of

Q.
A (1,7

yne with height 9cm is 144cm®. Find its base radius.

7
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17. Find the poi ividing the line AB, A (1, 2) and B (3, 1) externally in the ratio 1:2.
5

18. A point A (4, 5) and B (7, -1) are two given points and the point C divides the line segment AB
externally in the ratio 4: 3. Find the co-ordinates of C.
(-16,-19) &
(-16, 19) <
C. (-19,16) '
®) (16,-19)/

19. The volume of a cone with height 9 cm is 462 em’. Find the radius of the cone.
ke =2y
6
' cm
E C. 8cm
. D. 9cm

e M

20. The volume of a cube is 1728 ecm’. Find the total surface area of the cube.
A. NRem?
B. 144 cm?
C. 384c¢c
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DISEASES IN AFRICA

ANSWER ALL QUESTIONS

For items 1 to 12, cach stem is followed by four options lettered a to d. Read each item
carefully and circle the letter of the correct or best option.

1. The germ that causes HIV is referred to as
A. Bactena

B. Pathogens

C. Fupai
irus

2. Which of the following is true of HIV infection?
A. If your immune system is strong, you cannot be infected with HIV even if you
ve an infected transfusion.
@,Mon infected people do not know they are infected it
C. You always get infected with, HIV if you have unprotected pﬂm xual
intercourse with an infected person. =
D. You can tell if a person is infected with HIV by looking at him

@mngmMWInlhBWdﬁlw___. !
mmm .
od transfusion




5. The type of HIV mostly common in West Africa Is
A. SIV
VI
C. HIV2 |
D. CIV

6. The first case of HIV infection in Ghana was reported in

A. 1981
B. 1983
£ ’19

7. In Ghana, Health Official use the following combination to diagnose someone having
AIDS
KB m:uor signs, plus 3 minor signs, plus a confirmed HIV antibody text
il. 2 major signs, plus | minor, plus confirmed HIV antibody text.
1ui. 2 major signs, plus 2 minor signs, plus a confirmed HIV antibody text.
iv. 3 major signs, plus a confirmed antibody test

Whi;.h of the following 1s the correct combination?
. 1, 1,and iv

@_ Al and iv

C. i, il and v

D. i1and iv

8. Which of the following characteristics most appropriately describes a petson at
Window period of HIV infection? -
A. Infectious, feels sick, suffer opportunistic infections.
B. Infectious, feels sicker, have several recoveries, looks healthy
C: Infectious, feels well, looks healthy, no opportunistic infections
@'Not infectious, no symptoms, feels well, no opportunistic infections

9. Which of the following year groups is referred to as our Window of F
A. 5 - 12years

5 #13years
- l4years
. 5- I5years

10. Which of the following is a misconception of HW nfe

A. Blood fusion
Mﬂiﬂmmr s
imming in the same swimming poo

D. Sex without condom
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of the following is a low risk behaviour?

12. Whig
- Vaginal sex with a condom
. Multiple sexual partners
E, Blood lrur!sﬁ.niun with unscreened blood
). injection from an unqualified person
E. Deep kissing with tongues
For item indicate s |
13 to 16, indicate whether each statement is True or False by circling the letter of
the correct answer. :

f e e 2 . - .
13. HIV transmission does not occur on the occasion of every unprotected sex with a

rson infected with HIV.
rue
B. False

14. The protein spikes on the surface of the T-helper cells are the main entry points for

HIV cells into CD-4 cells

@Truc

B. False |
|

15. Once condoms are used for sex there is no way the virus can enter the body.
by

A. True
@ False

16. Everybod
A. True

(B)_Felsc

For items 17-20, writ

die of AlDS-related discases.

y who gets infected with HIV will eventually

¢ the appropriate response(s) in the space provided.

17. The differentiating factor between the 2nd and 3rd stages

. the nfecipd pecsoris RV anth
) stege oshl

will e pesitv
IB..MoﬂmmChild Transmission (MTCT) of H

o vecbial bransmmsst




ABETIFI PRESBYTERIAN COLLEGE OF EDUCATION

COLLEGE -BASED QUIZ EBS 153
OFFICE SUITE IN EDUCATION 1 HOUR

1. What is gutter margin ?

A Margin that is added to right margin when printing

@Mmgin that is added to the binding side of page when p‘r-ly,ug/

@h\‘gin that is added to the left margin when printing
D Margin that is added to the outside of the page when printing

— ground color on a document is not visible in ?




6. By pressing F12, which of following will happen 7

@Close dialog box will open

B Open dialog box will open

C Save dialog box will open

D Save As dialog box will open &4

7. The minimum number of rows and columns in MS Word docum ent i

o KN

D 55
10. Which of the following is not available on the Ruler of MS Word screen ?

A Left Indent
B Right Indent

(@Tnb stop box

D Center Indent A
11. What is the Short cut key for line break?

A CTRL + Enter

(B/space + Enter

i
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A Carriage Return

ord Wrap :

C Enter

- D None of the above




17. In MS-Word, for what does ruler help?

@to change page margins
B to set tabs

C to set indents

D All of the above
18. Selecting text means, selecting?

A an entire sentence
B a word
C whole document

@ any of the above

19. By default, on which page the header or the footer is printed?

A on alternate page
B on first page

(Cjon every page
D none of the above
20. The ability to combine name and addresses with a standard document i
A document formatting e
B database management
Comaitmerge_~

D form letters

3




ABETIFI PRESBYTERIAN COLLEGE OF EDUCATION
EBS 124J:COLLEGE GEOMETRY II
SECOND SEMESETR GENERAL QUIZ
DURATION: 20MINUTES

ANSWER ALL QUESTIONS IN THIS SECTION

1. In the diagram below, PQ// RS . ZQ]T:BO" and ZPTR = 20° and ZTRS = x° Find the
value of .

2. Using a ruler and a pair of compasses only
a. Construct i. AABC with |JAB| = 8em, ABC = 30” and BAC = 120°
i. Locus, /i, of points equidistant from A and C
. Locus, [, of points equidistant fivin |AB| and |AC|
b. Locate the point of intersection, D, of /;and [BC|
i. Construct locus, /5, of points 2.5¢m from D
. Locaic £, T tse point of intersection of L and i;and measure [EF |

3. a. In the figure below, O is the centre of the circle. ZDEF =140°. DC and BC are tangents to
the circle. Find the values of ZDFE and ZFDC respectively with explanation.

Generated by CamScanner



ABETIFI PRESBYTERIAN COLLEGE OF EDUCATION
FOUR-YEAR BACHELOR OF EDUCATION
FIRST YEAR, SECOND SEMESTER
COLLEGE-BASED QUIZ, JUNE, 2021
ENGLISH LANGUAGE STUDIES I (EBS 135)
Answer all the Questions (20 marks)
Nuratiod 1 20 MINUTES
1) What is a morpheme?
2) What is the difference between free morpheme and bound morpheme?
3) Identify the root of the following words.

a) incomplete
b) irresistible

4) a) In one sentence, define rankshifi.
¢) Analyse the following conversation and state the unit that has rankshifted or shifted
rank.
Where is the ball?
In the box.

5) How many morphemes make up each of the following words?
a) buyers
b) wanted
¢) unbreakable
d) men

6) What are the types of word formation processes used in the following words?
a) pin b) kleenex ¢) alcohol

d) armchair e) telly
7) Identify the underlined phrases/ Group in the following sentences:




ABETIFI COLLEGE OF EDUCATION /”""
2020/2021 MID SEMESTER EXAMINATIONS
EBS 147: HIV/AIDS & OTHER ENDEMIC DISEASES

\

For items 1 to 10, each item is followed by options A — D. choose from the alternatives (he
one that best provides the best response to the item by circling 11.

1. From Asymptomatic Sero Positive Stage, a PLWHA is likely to proceed to
A. Clinical illnesses suflicient for a diagnosis of AIDS
Clinical illnesses insufficient for a diagnosis of AIDS

. Sero-conversion
D. Window Period

2. AIDS Related Complexes (ARC) is associated with which of the stages of infection?

A. AIDS

B. Asymptomatic sero positive phase 51/
(© Clinical illnesses insufficient for a dmymslj ids
D. Window period ~

3. All of the following are possible conditions of a person who is affected by HIV/AIDS
@ The person is gradually dying of HIV/AIDS infection
B. The person is stigmatized because of the infection of a relafive

C. The person lives in a community where HIV ig highly‘prevalent

D. The person lives in fear of being infected with

4. HIV and AIDS are given more attention than any infections disease of the past
because

A. Technology for transmitting information is at its best than in the past

@ The mode of mnmnission is behavioural whichj for nhanga




6. Every individual is to be concerned about HIV and AIDS because ..................
A. Everyone will have a relation who will be infected
B. We all have a high level of knowledge about HIV and AIDS
C. We are all living with somebody with HIV and AIDS

@ Everyone is either infected or al'fcutcd__liflhc disease
e’

7. Vertical transmission has been found to be the principal cause of HIV/AIDS in ...
A. The youth (18 — 24 years)
B. Adults (above 35 years)
C. Adolescents (12 — 18 years)

@ Children (below 5 years)

8. Educational institutions have a special place in the HIV and AIDS educational drive
because
A. Teachers can educate people better than any category of professionals

B. Sexual activity in schools is becoming a big problem for society

@ The schools have l%oplc who are the hope of our future and need

protection

D. Educational institutions can organize HIV and AIDS education in a

=3
o
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Items 11 to 15 are proyi ;
ovided > ,
Risky Behaviours and Col " mt- table below. Column A is made of the main categories of

category in Column A to its

its corresponding example in C. i
: ; ' rexample in Column B by writin 7§ ]
in the middle box against each item. ‘ S

11'1;EM B A ANSWER B

: High R'Sl\' o /ir Kissing on the cheeks of a
Behaviour ! PLWHA

12. No Risk behaviour ‘i A B.Mosquitoes spread HIV

13. Low risk behaviour ﬁb&{imup piercing and tribal marks

14. Misconception e) "D. Sex with condom
15. Mode of E. Feeding on balanced diet
transmission F "’k

F. Conspiracy theory
G. Fetal growth

Jtems 16 to 20 are statemenis followed by True or False options. Indicate in each case

whether the statement is True or False by choosing the best option.
M.'Omemdomsmusodtmsx.thaeismwnyﬂuﬁmcanemﬁthebody.
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T P

Answer ALL the questions.
[20 marks]

i i TR

! Items 1 to 20 are stems followed by four options lettered A to D. Read each item carefully and
B circle the letter of the correct or best option.

1. Which of the following is true about labels and values in MS Excel? Labels ............
A. and values are left-aligned by default.
B. and values are right-aligned by default.
(Ql arc left aligned whiles values are right-aligned by defaul
D. are right-aligned whiles valyes are left-aligned by defayit.

the cell address G3Q/refer to in MS Excel?
G Cell 30.
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5.  Which function in
A. AVERAGE,

COUNT.
[F.

D. SUM.

cel checks whether a condition is true or not?

6. Which one of the following expresses a range
K:S8.

» K:S8.
. KS/SS.
é Ks-ss. 7]
7. Which function in Exc
A CHKNUM.
8 CounT.

C. NUM.
D. SUM.

address in Excel?

tells how many numeric entries are there?

.

8. A feature that displdys only the data in column(s) according to specified criteria is

filtering.
formula.
C. pivor
D. sorting.

9. Each MS Excel file is called a workbook use
o it can be modified.
it can contain many sheets including worksheets and chart sheets.
C. it can contain text and data.
D. You have to work hard o create it.

....................

10. What's a quick way 10 extend these numbers to a longer sequence, for instance | throy 1207
- Copy the second cell, click in the cell below it, on the standard toolbar click the down
__ arrow on the Paste button, and then click Paste Special. i STt ek, -\
ect both cells, and then drag the fill handle over the range you we ince 18

range you want,include both clls, poin t fl
A ’;-}r_': -; 3 _._ ) ' “ g '.', Q.
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| Wuh one of the following is considered as the areas on the slide where you can insért text as
- well as other types of cofitent such as images, charts and tables? ‘

& Animation.
Bl Placeholder.
- C. Slide pane.
~ D. Slide show.
hich of the following statements is not true about PowerPoint?
~ From Insert menu choose Picture and then File to insert your images into slidcs.f’f
You can show or hide task pane from View >> Toolbars
You can type text directly into a PowerPoint slide but typing in text box is more convenient.
You can view a PowerPoint presentation in Normal, Slide Sorter or Slide Show view.

inserts a new slide in current presentation?

yuld like to print his presentation for his class so they have a thumbnail of each slide,
Space to write notes. Which print layout should he choose?

2

 not available on lefi panel when you open a presentation?

giyen to the working area of MS PowerPoint?

aaaaa
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UNIVERSITY OF CAPE COAST
COLLEGE OF EDUCATION STUDIES
SCHOOL OF EDUCATIONAL DEVELOPMENT AND OUTREACH 7

INSTITUTE OF EDUCATION

COLLEGES OF EDUCATION
FOUR-YEAR BACHELOR OF EDUCATION (B.ED)
FIRST YEAR, SECOND SEMESTER MID SEMESTER QUIZ, JUNE 2021

JUNE 24, 2021 GHANAIAN CULTURAL STUDIES (TWI) 12:00 PM - 12: 40 PM
Bua nsemmisa no NYINAA.
1. Amimdefo> a wadidi so> yi mu hwan na ckaa se amammere ye “complex whole, belief and
BREREES . . ............. y
@ Sir Edward Taylor /
B. Sir Charles Darwin.

\ C. SirFranz Boaz.
'-. - 1‘#‘» D. Sir Michael Cole.

efre skwan a amammere nketewa bi tumi behye amammere kesee bi mu no se




6. Abrab> pa, amammere ne amannet nyinaa ye .
A. material culture.
B. cultural relativism.
C. nonmaterial culture. ,0

@ customs.

7. Amammergsua mu no, kasa (language) Y& ..........cooiviin e
A. acultural universal.
B. a flexible system of symbols.
C. essential for cultural integration\.)
@. a cultural barrier.

8. ODkwan a yefa so yene/tete mmofra no na yefre nose .......... PR SIS ST
nurture.

ethnicity.
nature.

norms.

 ooo®

edidi s03 yi mu dee ews he na enye amammere a yede yen ani hunu (material culture)
A. sub-culturation.

B. enculturation.

C. acculturation.

- @ cultural immersion.

Py " 3 ~ 10. Honam mu shyehyedee, adekyz ahodod ne ayiye nyinaa ye nhwesod ma cultural ...............

Generated by CamScanner



¥ 3 ° 15 Twere Akanfoo tete nnwom ahodo> mmienu (types) bi a wode di dwuma.
T S e
b Nawem 4 wade gyesye abdfm bl 8o’

O u’ ﬁ& Twere “norms” mmienu bi a Akanfos de di dwuma.

ﬁ, Dgaﬂm num Wo mnea  abofm  akead

e

h,f:s 3?“%&6\&\\ O0e.. .92,

5

............................

_q..._ab%me o ..e.:.t.h;&.. obga by w8, o o
Joaa _wo  ampead S Def“\e"‘#r-tv Aso, Jgest
.lM b\ e abﬂb‘sﬁm b\ 9“‘“ MF

..................
.....................
...................................
...........
........
------------

Generated by CamScanner



Nzﬁ; DEPARTMENT OF MATHEMATICS AND ICT
" MATHEMATICS UNIT
b

¢ N
At /WS /20 /0170
QA EBS 169/169J: TRIGONOMETRY

COLLEGE-BASED QUIZ I - 2021
Answer ALL Questions

For the following items, each is followed by four options lettered A to D. read each item carefully and
select the letter that corresponds to the correct or best option. Each question carries 1 mark.

1. The angle subtended at the centre of a circle by the length of an arc equal to the radius of the
circle is termed.................. 3
A. Degree measure '
@ Circular measure
C. Arc measure
D. Subtended measure
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+CD$2‘|U‘ Ide
6. Without usipf tables, find the value of ———— |eaving your answer simplifi

7. Aku walks 1 km on a bearing of 040°. She then walks 2 km on a bearing of 162°. Finally, she
returns to her startipg position. Find the distance of the last part of her walk.

v\

: ' f a harbour is steaming on a course of 084° at 12km~!. What is the
b!lrlnzofﬂm from the harbour after half an hour?

B. 8.7km, 136"
(©) 8.7km, 13
D. 8.7km,138°

Ahun!uunpmm&alghﬂaﬁredimcﬂymum_,\mhmmm
U“"“'hﬂﬁmhunm,dghummmmm
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etween the second hunter and the fire.

13. A boat starts from a point A, travels 7 km in the direction 060° to B and then 9 km north
to C. find the boat’s distance from A.

e

Y .
AT

ColiviuUuiltoeu Lly walliouvaliiivli



18. Given that 0 < x S%, and tanx = %, find cosx — sinx.

Vi4l
2

A
B
2
C. “"f‘*
—3+1
D. =

19. When the sun’s rays strikes the level ground, at an angle of 64.5°, Kwame’s shadow is 0.84m
long. How tall is Kwame?

enerated by CamScanner
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UNIVERSITY OF CAPE COAST
COLLEGE OF EDUCATION STUDIES
SCHOOL OF EDUCATIONAL DEVELOPMENT AND OUTREACH
INSTITUTE OF EDUCATION

COLLEGES OF EDUCATION
FOUR-YEAR BACHELOR OF EDUCATION (B.ED)
FIRST YEAR, SECOND SEMESTER MID SEMESTER QUIZ, JUNE 2021

b ¥

ATk

. -~ .
5 ;

JUNE 24, 2021 TRIGONOMETRY 3:00 PM - 3:30 PM

e Answer ALL the questions.
stem is followed by four options lettered A to D. Read each item carefully
the correct or best option.

) amplitude of the function y = 3sin(2x + 1)?

iilﬁ_‘ -;:’_'. .

P .
| S TIVI R '_3._.’. gl
L SR N e
NI i SRS & e ",«' 4
A A R A e T T S
S et el ot A

.

ol I_' #_

4 w
3 !




4. The graph below represents a sine wave. Deduce the period of the sine wave from the graph.

A.

|

14

@1
. 4n

If a graph repeats itself at a given interval, then this is the
A. amplitude.
period.
phase shift.
- \D, solution.
quation using the cotangent function that has the same graph as y = tanx.

-

R whd
s
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10. Find all the solutions of tan @ = /3.
| . 30" +90"n /

; 60" + 180°n

' C. 90"+ 270'n

D. 120"+ 360°n

! I'1. Given that cos 45" = sin 45" =

] value of cos 15™?
' ¥2-V6

*
B, ¥

-—. cos 60" = - und sin60” = ﬂ. which of the following is the

). m of the following is identical to cos 2607?
A cos?20 +2 /
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26" - it
o\ =
17. Which of the following is identical to sin®x? |} 5o 2 1
A. —(1-—sm 2x) g7 Ty
@-(1—coszx) \, P:}} | - |- inTk
2 : -
-(1+s|n2x) | = ‘U"lj,”_ ) !
@ = (1 + cos 2x) > '
l - 4+ L5 4'
18. Which of the following is not true? B !
A. cos(—A) =cosA / 5)}) fa“*
@ cos(—A) = —cos A \
_ D. tan(—A) = —tanA
E n
5 f":
' 19. Find the exact value of sin 22.5, if cos 45" = =~ (7
L= - 8wy

2
19"
Y
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ABETIFI PRESBYTERIAN COLLEGE OF EDUCATION.
LEARNING THEORIES FOR TEACHING COMPUTING.
MID-SEMESTER QUIZ. 30minutes
1. Which of the following is not a part of the soclal learning theory?
A.Imitation
B. Observation

@Trlal and error D’k "/

D.Vicarious reinforcement

2. According to the social learning theary, what people do is largely based on..........
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f).'ln learning theory, the naturally occurring response is called the ....

A. conditioned response

B. conditioned stimulus

@ unconditioned response K \/

D. unconditioned stimulus

6. A 'Skinner Box' is used for.........
A. incidental learning.
B. motor learning t .
@ problem sotvingﬂ ;
D. sensory learning.
7. All of the following are learning except learning......

A. endures over time.

B. involves change in behaviour. :
@is the result of maturation. )
D. occurs through experience.
k- g Learning is modification of ... thoughts and experience.

dana punishmen!
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R’ A teacher who reinfor i
ces a child every time he corr ini | ra
_ : ectly finishes a step in
/ until he finishes the Program is demonstrating ... . e

A. discrimination

B. extinction
@shaping
D. spontaneous recovery.
10. Giving students praise for good work is an example of ..........
A. negative reinforcement -

positive reinforce

C. punishment

D. time- out.

11. The concept of classical conditioning was developed by a Russian physiologist called...,L'vW

12. The key element in classical conditioning is ....... f\

13. What is Theory?
- 14 State three characteristics of a theory.
H_"' . '_f" gﬁmmmmm model, state the three key assumptions that underpin this view.
bl - |
—= Sl \ .!
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COMPUTING

Answer ALL the questions.
(20 marks)

h stem is followed by four options lettered A to D. Read each item
er that corresponds to the correct or best option,

rbs would be best used for a lesson objective in a constructivist
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4. Which of the following assessments would be considered for a constructivist lesson?
A. Multiple choice test.
B. Poem recitation.
Reflective journal.
D. Vocabulary test.

5. The model which proposes that human memory is like the computer which involves a sequence
of three stages: sensory memory, short term mpefnory and long-term memory A
A. generalization.
B. Gestalt psychology.
information processing modegl
D. insightful leaming.

For items 6 to 10, write the appropriate responses in the spaces provided. TJean

----------------------------

... is reframing the world and new experiences into the

.... is the balance between what is known and what is
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Items 16 to 20 consist of three columns labelled RESPONSES, TERM and DEFNITION.

Match each term with the a
ppropriate definition b iti |
correct definition under the RESPONSES COLUMT):LWH baier s i o

S/N | RESPONSES [/ TERM DEFINITION |
16. Preoperational stage | A. Receives input from senses which last from |
c less than a second 1o four seconds and then |
)/ disappears through decay or replacement.
B A D ?ncretc Operational | B. Learning takes place primarily through the
/ lage child’s senses and motor actions.
-

E \/ ﬁg/'rerm Memory | C. Children begin to use symbols and images.

A \_/ Serfsory Register D. Children begin to think logically.

6 \/ Sensorimotor stage E. Stores information from STM for long term

usc

F. Framework used by cognitive psychologists
to explain and describe mental processes.

' G. Method of helping students grasp concepls
i and procedures under the guidance of an
F expert such as the teacher.
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